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Answer Key HW #

1. m= .7 b=1 2. m=5/1 b=-1 3. m=-1/1 b=-3
1 1
4. y=—x+2 m=¥%b=2 5, y=—-—x—2 m=-1/10 b=-2
2 10
6. y=4 m=0 b=4 7. x=1 mis undefined and there is no y-intercept (vertical line)

For #’s 8 — 12, see graphs on reverse side.

8.y=%x m=2/3 b=0 9.y=2x-3 m=2/1 b=-3
1
10. y=-—£x+1 m=-1/2 b=1 11. -3x+y=4 ->y=3x+4 m=3/1 b=4

12. 4y=3x—-8 >y= %x-—z m=3/4 b=-2
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13. y= —?1_- x—3andy= —;-x + 2 are parallel lines. Parallel lines have the same slope.

14. y=3x+landy= -% x — 2 are perpendicular lines. Perpendicular lines have opposite, reciprocal

slopes.
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